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1.

1.1

PLC
Neza PLC

PL707WIN

PL707WIN

TSX08PALM HT01/05

PL707WIN

(PPC)

TSX Neza PLC

Neza PLC

1.2 (List

IL)

PL707WIN
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004 LD%M10 %M10

008 LD%TMO %TMO

010 [%MW10:=%MW50+100]

015 SR5 #5
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1.3-2

TSX Neza PL7 07 WIN TSX Neza
PL707WIN
0,
%10.5 %Q0.4 LD %10.5
} } ( OR %I10.4
%‘IO‘.4 ST %Q0.4
|
PL707WIN
B.1.3-
3




1.3-3

- BLK
- OUT_BLK
- END_BLK
B2.2
N Not
JMPCN oL
N (NOT)
ENDCN
XORN XOR NOT
%Q0.4
(y— LD 1
ST %Q0.4
LD 1
%MWS5 :=0 [%MWS5 := 0]
JMP  %L6
>%L6
1
1 1 %MWs5
0
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2.1
2.1-1
- /0
/0 “ ”
/0
/0
%S0 %S127 PLC
B 5
3.1-1
1)
0o 1 ~ ~ ~
%lij. (2) 48 A
%Qij (2) 32 A
%Mi 128 (3)
%Si 128 i 5.1
%TMi.Q, %DRI.F B ) 2.2-1
E,D,F,Q,THO, TH1 3.3-1
3.1-1
(1)
(2) i=0 PLC PLC i=1-3 1-3 /0 =110 10
1
©) 64
) %SBRij  %SCi.]
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2.1-2

LD
LD %10.0 1
ST
ST %Q0.0
LD %10.0
AND %I0.1
ST %Q0.0
PLC n n-1
LDR R LDF F
LDR %I0.0 %10.0 LDR %10.0 %10.0
P —IN—®
0 1 1 0
A
%02 |} , %10.2 ! .
- -
1 PLC 1 PLC
ol LD %MO
32 %M0 %M31 ° %M0 %M10 %M11
ANDN %M10 4{ H/ ()
ST %M11 9%6M11 9%6M10
%M11 %Mo | LD %M1l 00—
ST %M10
@)
2)
) 1
LD %S1 ENDC
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LD LDN LDR LDF
LD LDN LDR LDF

L

910.1 %Q0.3 LD %10.1
—] | () ST %Q0.3
%MO %Q0.2 LDN %MO
%/ } (— ST %Q0.2
%I10.2 %Q0.4 LDR  %l0.2
|| ()— ST %Q0.4
%10.3 %Q0.5 LDF  %I0.3
—{N| () ST %Q0.5
LD LDF
LD | 0/1,%I,%Q,%M,%S,%BLK.X,%*Xk,[ | y
LDN [%I,9%Q,%M,%S,%BLK.x,%*:Xk,[ %I10.1 %I0.3 <_
LDR (%I %M
LDF |%! %M _T%IZ\(F %IZSI_
01 0 1
%l PLC  %li, D o [
%Q PLC %Qi.|
YoM YoM %10.1
%S %Si
%BLK.X %TMi.Q
%*:Xk %MWi:Xk %00.3
| .
[%MWi<1000]

13



2.1-3 LD LDN LDR LDF
LD LDN LDR LDF LDR  LDF
PLC 32 %MO  %M31
%I0.1 %Q0.3 LD %10 1
‘ / 0lV.
— O ST  %Q0.3
i %Q0.2 LDN  %MO
/ (
jm ‘2 tyQt)): ST Q0.2
01U, () o
LDR  %I0.2
— P O ST  %Q0.4
%10.3 %Q0.5 6Q0.
| e LDF  %I0.3
N
—N O ST  %Q0.5
LD LDF
LD 0/1,%I,%Q,%M,%S,%BLK.x,%*:Xk,[ __l_\_ L
LDN [%1,%Q,%M,%S,%BLK.x,%*: Xk, [ %I10.1 %I10.3
LDR | %l %M
LDF (%l %M --ol/_\—o 0_|_|_
6Q0.3 [%Q0.2 %6Q0.5
2.1-4 ST STN S R
ST STN S R
%10.1 %Q0.3 LD %I0.1
| () ST %Q0.3
%Q0.2 STN  %Q0.2
(/)y— S %Q0.4
%Q0.4
(s)— LD  %l0.2
%10.2 %Q0.4 R %0Q0.4
% \ /R)i
| (
ST %Q,%M,%S,%BLK,x,%*: Xk
STN [%Q,%M,%S,%BLK,x,%*: Xk
S 2%Q,%M,%S,%BLK.x,%*: Xk
LDF [%0Q,%M,%S,%BLK.x,%*:Xk
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2.1-5

AND ANDN ANDR ANDF

(D %I0.1
0, 0, 0,
/oIO.‘l /o‘M‘l A)Q9.3 AND il
— | (O— ST %Q0.3
%M% %\IO}Z %Q0.2 LD %M2
( ANDN %I10.2
% 1/l O ST %Q0.2
%10.3 %IO.‘4 %Q0.4 LD  %I0.3
\ \ (
% —P| S éNDR ?;38644
%M3  %I0.5 %Q0.5 S oave
— | 6 ANDF  %I0.5
S %Q0.5
AND ANDN ANDR ANDF
AND | 0/1,%1,%Q,%M,%S,%BLK x %*:XK,[ ‘ | | |
ANDN| %I1,%Q,%M,%S,%BLK.X,%* XK, [ %I10.1 %oM2 %I0.3 %M3
ANDR| %l %M | | | | i |_|_t
ANDF | %l %M %M1 %I10.2 %I10.4 %I10.5
[ I
%Q0.3 %Q0.2 | %Q0.4  |%Q0.5
2.1-6 OR ORN ORR ORF
%I0.1 %Q0.3 LD %I0.1
\ ( OR %M1
) \ \ ST %Q0.3
M1 LD  %M2
ORN  %I0.2
%M2 %Q0.2 ST  %Q0.2
} ( LD  %M3
ORR  %I10.4
%l0.2 S 9%Q0.4
/ LDF  %I0.5
%M3 %Q0.4 ORF  %I0.6
\ ( S %Q0.5
| ) &
0,
l{lg"" OR ORN ORR ORF
%I0.5 %Q0.5 L L !
" & pe %10.1 %M2 %M3 %10.5
N ©—
%10.6 | I | Ll 4
N %M1 %10.2 %10.4 %10.6
|| |
%Q0.3 %Q0.2  |%Q0.4  |%Q0.5
OR | 0/1,%1,%Q,%M,%S,%BLK x %Xk
ORN | %I,%Q,%M,%S,%BLK.X,%* Xk
ORR | %I %M
ORF | %l %M
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2.1-7 XOR XORN XORR XORF
LD  %l0.1
%IO.‘l ‘%Ml‘ %Q0.3 XOR %M1
0,
% | XOR ( ST %Q0.3
%10.1 %M1 %Q0.3 LD  %I0.1
\ || ( ANDN %M1
1/ { OR( %M1
%M1 %I0.1 ANDN %10.1
/P )
ST %Q0.3
XOR
]
%I0.1
XOR | 9%1,96Q,%M %S %BLK.x,%*Xk o
0
XORN]| %1,%0Q,%M,%S,%BLK X %6*Xk
XORR| %I %M
XORF| %I %M %Q0.3
%I1.5 %Q1.3
’ — | xoR ()
%M10
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2.1-8 N

LD  %I0.1
OR  %M2
ST %Q0.2
N
AND  %M3
ST %Q0.3
“lol0.1
N - I
“loeMm2
N 1 |
%Q0.2
1] .
%M3
[ r 1
%Q0.3
2.1-9
AND(...)
LD  %I0.0
%10.0  %I0.1 %Q0.0 AND  %l0.1
} } } ( OR  %l0.2
ST  %Q0.0
%10.2
| LD  %I0.0
AND(  %0.1
%I10.0  9%I0.1 %Q0.0
| ™ . OR  %l0.2
| | \ )
2%10.2 ST 2%0Q0.0
OR(...)
LD  %I0.0
%10.0  %I0.1 %Q0.0 AND  %l0.1
} } } ( OR(  %l0.2
%I0.2  %I0.3 ;*ND L.
ST  %Q0.0
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N,F,R [

* N AND(N  OR(N
* R AND(R OR(R
- F AND(F  OR(F

- 3.1-5

LD  %l0.0

%10.0 %I0.1 %Q0.0 AND  %l0.1

— | ( OR(N . %(0.2

%10.2 %I0.3 fND %10.3

H/H F ST  %Q0.0

8
LD  %I0.0
%I0.0  %I0.1 %Q0.0 AND(  9%l0.1
4 } } } ( OR(N %I0.2
AND  %M3
%I10.2 %M3 ) °
= )
ST %Q0.0
LD %l0.1
%|o‘.1 %‘IO.‘Z %‘IO.‘S %‘IO.‘4 %Q0.0 AND(  %0.2
( AND  %I0.
T —1 O by o
%I10.5 %I10.6 D G
)
%I0.7 %0.8 AD Vs
] OR(  %I0.7
1 AND  %I0.8
)
)
ST %Q0.0
%Li: SRi: (IMP)

(SRi) 2.4-3
ST STN S R
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2.1-10 MPS MRD MPP

8
MPS
MRD MPP
%I0.1 %MO  %I0.1 %Q0.0 LD  %I0.0
L] || (F QNpg %MO
MPS %0.2 %Q0.1 AND  %I0.1
) ST %Q0.0
MRD
MRD %10.3 %0Q0.2 AND %I0.2
D ) ST  %Q0.1
MPP g g MRD
\ef'o"" #Q0.3 AND  %I0.3
() ST %Q0.2
MPP
AND  %I0.4
ST %Q0.3
%10.0 %I10.1  %Il0.3 %Q0.0 LD  %I0.0
)— MPS —
MO AND  910.1 ETITTTT]
MPS —>
) ) AND(  %I10.3 BT [T [TT]
6M1 /oQOﬁ e
/ ( )
%'0-“" %00.2 ST %Q0.0
| 9 T EE T
%M10 %Q0.3 ANDN %M1
| ( ST  %QO0.1
| \ MRD '
NS o (_,—I]]]]]]]
ST %Q0.2
MPP —
[ITITTTT]
AND  %M10 O
ST %Q0.3
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SHORT

2.1-11 OPEN
1 OR AND
%I10.1 %M3 2%0Q0.1
1 foren] ()
%Q1.5
%IO‘.Q %0Q1.6
| (

OPEN  SHORT

OPEN  SHORT

LD  %I0.0

OR  %Ql5

ANDN %M3

AND 0

ST %Q0.1

LD  %I0.9

OR 1

ST  %Ql.6
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2.2

2.2-1

%Ci
AR E L
LD E 1S
ADJY pL
2.2-2 %CI.P 9999
LD %Ci.E —{ CU
o FL
/

%Ci.V

%TMi (i=0-31)

%TMi.V

%TMi.P

%TMi.Q

2.2-3

%Ci (i=0 to-15)

%Ci.V

%Ci.P

%Ci.E

%Ci.D

%Ci.F

2.2-4

LIFO/FIFO

%Ri (i= 0-3)

%Ri.|

%Ri.O

%Ri.F

%Ri.E

2.2-5

%DRi (i=0-3)

%DRI.S

%DRi.F

2.2-6
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2.2-2

BLK %TM2

CU %Ci
100 CU %C1, 174 CD %C1, 209 LD %C1.D

BLK, OUT_BLK END_BLK.

BLK
OUT_BLK
END_BLK
WLl g C
IN}‘ . L LDF %I1.1
R
s %M1 %Q0.4 0
%IL2 %MO | 9CiPoses D _| }—( ) ;[,le 02:\;02
_i }—| }~cu CuU _
o L OUT_BLK -
LD D
AND %M1
ST %Q0.4 _
END_BLK
BLK %C8
%L1 s LDE o/oll 1
HE e -
R
s aoay LD %I1.2
%I1.2 %MO %Ci .P 9999 D |- AND %MO
H ] Hes cu ,
e L END_BLK —
LD %C8.D
%C8.D %MI %Q0.4 AND %M1
H O || st %ooa

BLK OUT_BLK
OUT_BLK BLK END_BLK
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2.2-3 %TMi

%TMi . TON
- TOF
TYPE TON
TB 1 min
ADJY .
%TMi.P 9999 TP
%TMi 0 31
TON
TOF
TP
B 1 1 100 10 1
TMO T™1
%TMi.P 0-%TMi.P-9999.
9999 %TMi.P
X TB.
Y/N Y: %TMi.P
N:
IN TON TP
TOF)
Q TON TOF TP
%TMi.Q 1
(1) %TMi.V
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:TON

IN (1)
L %TMi.V TB 0
IN %TMi.P %TMi.P
%TMI.Q 1 IN (2)
Q % TMi.P
i e
TOF
IN (1) %TMi.V
— 0 IN
IN |
B 0 %TMi.P IN
Q %TMI.Q 1
oTMLP %TMi.P 0
%TMi.V. ||
TP
IN (1)
%TMi.Q 1
IN —Iﬂ %TMi.V 0 B
%TMi.P %TMi.P
Q |_ %TMi.Q 0
6T %TMi.V
%TMi.V / %TMi.P IN 0 %TMi.V
0
(1) IN
(2) IN
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TON TOF TP
BLK %TM1
%10.1 %TMi %Q0.3 LD %l0.1
O] | »
TYPE TON OUT_BLK
TB 1 min LD Q
ADJY
%TMi.P 9999 ST %0Q0.3
END_BLK
: TON TOF TP
- TB: 1 1 100 10 LD  %I0.1
1 IN %TM1
- %TMi.P: O 9999 LD %TM1.Q
Y N ST  %Q0.3
%TMi.P
B %TMO.P: =100 —
0 100xTB
(%S0=1)
0
%TMI.Q 0
(%S1=1)
- PLC PLC
(%TMi.P) Q (%TMi.Q)
PLC
%TMIi.Q %TMIi.Q
%TMi.P
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%TMO %TM1

%SW76 %SW77 %SW78

0-15 1 1

%SW79 "

LDR%I0.1
[%SW76:=XXXX]
LD %I0.2

ST %SW76:X15
LD [%6SW76=0]
ST %MO

%I0.1
XXXX=
10.2

%I0.1

e

%I0.2

Y%SW76:=XXXX Ii

%SW7{6:X15

|

\

%MO

—| %SW76=0

(
\
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2.2-4 %Ci

%Ci
AR E |
1S

ADJ Y D

%Ci.P 9999
CuU

lep F L
%Ci 0 15
%Ci.V CU CD
1
%Ci.P 0-%Ci.P-9999. )
9999
Y/N Y
N:
R 1 %CiVv=0
S 1 %Ci.V = %Ci.P.
cu %Ci.V
CD %Ci.V
E %Ci.E=1 %CiV 0
9999 %Ci.V 9999

1 0

%Ci.V=%Ci.P %Ci.D=1
F ) %Ci.V 9999 0 %Ci.V

0 1
0 %Ci.F =1
(1) %Ci.V
@) %Ci.P
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Cu Cu %Ci.V

%Ci.P D %Ci.D 1 %CiV 9999
0 %Ci.F 1 0
cD CD %Ci.V
1 %CiV 0 9999 %Ci.E 1
0
cD cuU 2
CuU CD 1
1 %Ci.V 0 %Ci.E  %Ci.D
%Ci.F 0
S 1 S 0 R
%CiV  %Ci.P %Ci.D 1
(%S0=1)
- %Ci.V 0
- %Ci.E %CiD  %Ci.F 0
- PLC (%S1=1): (%Ci.V)
%Ci.P
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5000 %I1.2 %MO 1

%C8 %C8.D=1 %I1.1
%L1 g
4i }‘ R El
; - %Ci.P, 5000
%I1.2 %MO &%]IYP 9999 D |-
H H He
—cp FI-
%C8.D %Q0.0
I (
| {
BLK %C8 LD %I1.1
LD %I1.1 R %C8
R LD  %I1.2
LD  %I1.2 AND  %MO
AND  %MO cU  %Cs
o LD %C8.D
END_BLK ST %000
LD  %C8.D 6Q0.
ST  %Q0.0
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2.2-5 LIFO/FIFO %Ri

16 16

%R
FIFO

LIFO

—{1 F
TYPE FIFO

— 0

%Ri 0 3

FIFO
LIFO

%Ri.l

%Ri.0

I (In) %Ri.l

O (Out) %Ri.O

R (Reset) %Ri.0 1

E (Empty) %RI.E

F (Full) %Ri.F

30



FIFO

%Ri.l
|
%Ri.| 20 I—
a %Ri.| 20
(a) 80
F=1
o) 50
@)
%Ri.0 %Ri.0
b
%Ri.0 80 %Ri.0
R 1 50 50
R
20
80
LIFO
%Ri.l
|
. 20 —
%Ri.l -
c %Ri.l 20
C
F=1 © 80
o 50
0]
%Ri.O d %Ri.0
E=1 %Ri.0
%Ri.0 20 20
R 1 80 (d)
R
50
80
50
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(%S0=1) %Ri.E E 1 %Ri.|
%Ri.O 0
(%S1=1)
s R2 (%R2.F=0)
e | %10.2 %MW34
%Ml %R2.1 %M1
| F

%10.3 TYPE FIFO %10.3

- ' 5 (%R2.E=0)  %R2.0 %MW20

%10.3 %R2.E

|/ Jemwa0:=%R2.0]

%10.2 %R2.F FIFO

| eR2.=%Mwaa | LIFO

%M1
()

BLK  %R2 LD %M1
LD %M1 | 9%R2
| LD %l0.3
LD %I0.3 O  %R2
o) LD  %R2E
END_BLK [%MW20:=%R2.0]
LD %l0.3 LD %I0.2

ANDN %R2.E
[%6MW20:=%R2.0]
LD  %l0.2
ANDN %R2.F
[%R2.1:=%MW34]
ST %M1

ANDN %R2.F
[%R2.1:=0MW34]
ST %M1
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2.2-6 %DRI
%DRi
p— R -
STEPS 8 %Qi.j %Mi
%DRi 0o 3
%DRi.S 0-%DRi.S-7
1 8
0 R (RESET) 1
U(UP)
F (FULL)
%DRi.F
16
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0 F
%Qi,j , %Mi
0 1 2 D E F
%Q0.1 %Q0.3 %Q1.5 %Q0.6 %Q0.5 %Q1.0
0 0 1 1 1 0
1 1 0 1 1 0 0
|
5 1 1 1 0 0 0
6 0 1 1 0 1 0
7 1 1 1 1 0 0
5 %Q0.1 %Q0.3  %Q1.5 1 %Q0.6
%Q0.5  %Q1.0 0
U u
u: MI_/ /_b L | L4 L L]
R:
. ////
%DRiS _0 [ 1 | 2 | /y L-1 o [ 12 T 2To0oTl1
%DRi.F ///L :
(%S0=1) 0
(%S1=1)
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9%10.1 1 6 %Q0.0  %Q0.5

%I0.0 0
BLK %DR1
%10.0 %DR1 %Q0.8 LD %10.0
B O I
%I0.1 LD %I0.1
U U
STEPS 6
OUT_BLK
LD F
ST %0Q0.8
END_BLK
6
LD %I0.0
0,
Q0.0:1: 2: 3: 4: 5 R Sl
LD %I0.1
0:00 0 00O U %DR1
1:01 0 0 0 O LD %DR1.E
2200 1 000 ST %Q0.8
3000100
4:00 0 01 0
500 0 0 01

0:%Q0.0  1:9%Q0.1
2:9%Q0.2  3:%Q0.3
4:9%Q0.4 5:%Q0.5
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2.3

2.3-1 END ENDC ENDCN
END ENDC ENDCN

END
ENDC 1,
ENDCN 0,
%M1 %Q0.1 LD %M1
—| | ( ST  %Q0.1
LD  %M2
%M2 %Q0.2
| ( ST  %Q0.2
END
END >
L %Q0.1 LD %M1
vy y ST  %Q0.1
I \ LD  %M2
%M2 %Q0.2 ST %0Q0.2
| (
—%—1?3 ___________ LD %I10.2 0610921
| END > ESDC oy e
%M2 %Q0.2 0
| ( ST  %Q0.2
______________ %10.2=0
END END
END >—
2.3-2 NOP
NOP
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2.3-3 JMP JMPC JMPCN %Li:
JMP JMPC JMPCN %Li (i=0 15)

JMP:
JMPC: 1,
JMPCN: 0,

000 LD %M15

001 JMPC %L8 %M15 1
002 LD [%6MW24>%MW12] %L8

003 ST %M15

004  JMP %L12 %L12
005  %L8: <

006 LD %M12
007 AND %M13
008 ST %M2

009  JMPCN %L12 %M2 0
010 OR  %MIl %L12

011 S %Q0.0

012 %L12: h

013 LD %l0.0

LD LDN LDR LDF BLK
%Li

PLC
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2.3-4 SRn, SRn: RET

SRn SRn
RET

SRn: =0 15
000 LD %M15

001 AND %M5
002 ST %Q0.0

003 LD [%MW24>%MW12]
004 SR8
005 LD %10.4 < —
006 AND %M13
007
008
009
010 END
011 SRS: <
012 LD 1
013 IN %TMO
014 LD %TMO.Q
015 ST %M10
016 RET
LD  BLK
%10.0 L %
H b<>> SRO SRO
%Q0
%Q0.0
LD  %I0.0
ST %Q0.0
SRO

38



3.1
3.1-1
16 32768 32767
0 65535
16
-32768 32767
16
F ED CB A 9 8 7 6 5 4 3 2 1 0
ol1lol1lolol1lolof1]olol1]1]0]1
+ <t AN O o) <t N (o) [e0] <t (V] (o] [e0) <t N —
[o6] o ()] <t N — Te) N O (90) —
i (ap] — o o o Lo AN —
(o] [ee] <t N —
—
15
15 :
15 1:
1579 32767 -32768
16#A536 16#FFFF 16#0000
— %MWO 16 bits
%MWO  %MWS511
L %MW511
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— %KWO

16 bits
%KWO - %KW63
o . . — %KW63
I/O %Wi,j %QWi,j
PLC AD DA , 35
16 %SWi PLC
6
16
% XKk, k 0 15
%MW5:x6: %MW5 6
1 2103
: 16#AFOD
%MWi 512 _
Y%KWi 64 (1) -
%SWi 128 [ 5.2
%TMi.P 2.2:1
%Ci.P
I/O 3.3
%IWi.j 20
%QWi.j 10
%MWi: Xk 512x 16
%SWi:Xk 128 x 16 [
%KWi:Xk 64 x 16
%IWi.j: Xk 20 x 16
%QWi.j: Xk 10x 16
)
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3.1-2

%M8 %M9 %M10 %M11 %M12 %M13

%M8:6 (1) | | | | | | |
%I0:L  %I1:L O<L<17
%Q0:L  %Q1:L O<L<17
%Si:L O<L<17 i+L-128 i
i 8
%Mi:L O<L<17 i+L-128
i 8
= 3.1-4
L
%KW10 16 bits
%KW10:7
%KW16
%MWi:L O<L<512 i+L-512
%KWi:L O<L i+L-64
%SWi:L O<L i+L-128 i
= 3.1-4
(1) %M8:6 8 8 %M10:16 10 8
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%M26 26

%MWi “ ”
%MW108[%MW2] 108 +  %MW?2
%MW?2 12 %MWI108[%MW2] %MW120
%MWi[%MW;] 0-i+%MWj<512
%KWI[%MW]] 0-i+%MWj<64
= 3.1-4 3.1-
5
%S20
+ 0
+ 512 %MWi 63 %KWi
%S20 1 0
%S20 0
%S20 0
1
0
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3.1-3

16 3.1-1
=1 =0
3.1-4
Op2 Opl
[Op1:=0p2]| <=>| Op2->0pl
3.1-2
- 1
-=> (2
-> ¢ 3
-
LD 1
[%Q0:8:=%6M64:12] (1
196Q0:8:=%M64:12 |—
LD %I0.2
%102 [%MW100:= %10:16] (2
— ————{%MW100:29%10:16 | —
LD %I0.3
%10.3 [%M104:16:= %KWO]  ( 2)
P ————{%M104:16:=%KW0 | —
_> 0
0 <16)
-> 0

43



1(Op1) 2 (Op2)
= [Opl: = Op2] %MWi,%QWi, %SWi , Y%oMWi,
%MWI[MWi], %K Wi, %IW,%QW,%SWi,
2 %Mi:L,%Qi:L,%Si:L %BLK.X,%MWIi[MWi],
1 KWi[MWi], %Mi:L,%Qi:L,
%Si:L,%li:L,
%BLK.x %CO0.P
-=> (1 -=>
-=> -=> 2)
= (3 ->
- -=
LD 1
[%SW112:= %MW100] ( 1
1 %SW112:=%MW100  |—
LD  %l0.2
%10.2 [%MWO[%MW10] := %KWO[%MW20]]
H%MWO[%MWlO]:z%KWO[MWZO] — ( 2
%10.3 LD %I0.3
—PH 9%M10:=100 | [%MW10:= 100] ( 3)
1(Op1) 2 (Op2)
= [Opl: = Op2] %MWi,%QWi, %SWi , %MW,
%MWI[MWi], %KWi,%IW,%QW,%SWi,
2 %Mi:L,%Qi:L,%Si:L, %BLK.X,%MWIi[MWi],
1 %KWI[MWi], %Mi:L,%QIL,
%Si:L, %li:L,
%BLK.X R3.I
%Mi:L, %Si:L 8 (0, 8, 16, ..., 96, ...)
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-> (G
- ( 2)
-=> « 3
LD
—— %MW0:10:=100 — [%MWO:10:= 100] ( 1)
%10.2 LD
%MWO:10:=%MW1L | — [%MW0:10:=%MW11] ( 2
%10.3 LD
4PH %MW10:20=%6KW30:20 | — [%MW10:20= %KW30:20] ( 3)

1 (Op1) 2 (Op2)
= [Opl: = Op2] %MWi:L,%SWi:L %MWi, %K Wi:L
%SWi:L
2 , %MWi, %K Wi, %IW,
1 %QW,%SWi,%BLK.X
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> 1 2
>= 1 2
< 1 2
<= 1
= 1 2
<> 1 2
LD AND OR 1
LD [%MW10 > 100]
%Q0.3
ST %Q0.3
— %Mw10>100 |——
: a LD %Mo
9%MO %Q0.2 AND  [%MW20 < %KW35]
[ %MW20<96Kkw35 |( ) ST %Q0.2
| () OR  [%MW30 >= %MWA40]
ST %Qo.4
——{96MW30 >= %MW40
1 (Op1) 2 (Op2)
>>=<<= |LD][Opl Op2] | %MWi:L,%KWi,%IW, %MWi,%KWi,
=,<> AND[Op1 Op2]| %QWi,%SWi,%BLK.X  |%IW,%QW,%SWi,%BLK X,
OR[Op1 Op2] %MWIi[%MWi],
%KWI[%MWi]
LD  %MO
AND( [%MW20>10]
OR  %l0.0
)
ST %Q0.1
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3.1-6

* 3 REM
i 1 SQRT :
* : INC
/ 3 DEC
%MO LD  %MWO
———MWO=96MW10+100}—{ WO SMWL0+100]
%I0.2 o o
%MWO:=SQRT(%MW10
4{ }—{ 0 QRT(%MW10)}— RO~ SORT(OOMWIO)]
%103
0,
%P’—{ INC %MW100 | LDR ~ %I0.3
[INC %MW100]

1 (Op1) 2 (Op2)
+-*/,REM |[Op1l: =Op2 Op3] | %MWi,%QWi,%SWi, (1), %MWi,%KWi
SQRT [Opl: =SQRT(Op2)] %IW,%QW,%SWi,%BLK.x
INC,DEC | Op1]

-32768  +32767 %S18 1
%S18
LD %MO
%MO
%MWO:=%MWL+9%MW2 |} [%MWO:= %MW1+%MW?2]
%518 LDN  %S18
ﬂ/}—{ %MW10:= %MWO | [%MW10:= %MWO]
%518 LD %S18
} } | %MW10:= 32767 |— [%MW10 := 32767]
R R %S18
%MW1 =23241  %MW2=21853 (45094) 16 %S18
1 (-20442) 32767 32767
(1) SOQRT
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15 32768
65535 65535 %S17
65536 %S17 1

1: [%MW2:=%MWO + %MW1] %MWO =65086, %MW1=65333

%MW2 64883  %S17 1 65536
65536 + 64883 = 130419

2: [%MW2:=%MWO + %MW1] %MWO =45736 -19800 %MW1=38336

27200
%S17  %S18 1 (+18536)
18536 + %S17 84072
0 %S17 1
%S18 1
0
0 %S18 1
%S18 1
%S18 1
%S17  %S18 PLC 1
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3.1-7

AND:
OR :
XOR:
NOT:

%MO

%I0.3

}—{%MWO::%Mwm AND 16#FF00|——

| AMWO:Z%KWS OR %MWI0 |——

’—{ %MW102:=NOT(%MW100) ’7

LD  %MO
[%MWO:= %MW10 AND 16#FF00]
LD 1

[%MWO:= %KW5 OR %MW10]
LD  %I0.3

[%MW102:=NOT (%MW100)]

1 (Opl) 2 (Op2 & Op3)
AND,OR,XOR |[Op1: =Op2 Op3] | %MWi,%QWi,%SWi, (1), %MWi,%KWi
NOT [NOT (Op2)] %IW,%QW,%SWi, %BLK X

[%MW15:=%MW32 AND %MW12]

(1) NOT

Op2
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3.1-8

F 0 ’ -
~—{ I T — - SHL (op2,i) i
%S17 0 _ _
—{TTTIIT I - SHR(0p2,i) i
%S17
LF OkJ - ROL(0p2,i) i
[TTITTTITTTTT]
%S17
L d - ROR(op2,i) i
[TTTITTTITTIT
E i 1 16
0
06S17 %S 17
0,
%10.1 LDR  %I0.1
P 6MWO=SHL(IMW10,5) |— [%MWO := SHL(%MW10,5]
%10.2
—{P’—{%MWlO::ROR(%KWQ,S)’— LDR  %I0.2
[%MW10 :=ROR (%KW9,8)]
1 (Op1) 2 (Op2)
SHL,SHR, [Op1: = (Op2,)] | %MWi,%QWi,%SWi, |%MWi,%KWi,
ROL,ROR %IW,96QW,%6SWi,%BLK X
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3.1-9

- BTI: BCD-->
+ ITB: -->BCD
BCD
BCD 0 9 16 4
0 9999
BCD %S18 1
0

0 1 2 3 4 5 6 7 8 9

BCD 0000 0001 0010 0011 0100 0101 0110 0111 1000 1001
%MWS  BCD “ 2450” 0010 0100 0101 0000
%MW12 “ 2450” 0000 1001 1001 0010
BTl %MWS5 %MW12
ITB %MW12 %MWS5
LD %Mo
L MWOSBTI%MWL0) [%MWO := BTI (%MW10)]
%I0.2 .
[ 6MW10:=ITB(%KW9) || LD %02
[%MW10 :=ITB (%KW9)]

1 (Opl) 2 (Op2)
BIT,ITB, [Opl: = (0p2)] %MWi,%QWi,%SWi, | %MWi,%KWi,%IW,%QW,
%SWi,%BLK X
BTI BCD PLC
ITB BCD

51



3.2

3.2-1
2.2

%PWM.R 3.2-3
%PWN %PWM.P

%PLS.P 3.2-4
%PLS %PLS.N

%PLS.Q
%PLS.D

[ %FC.Si 3.2-5
%FEC %FC.V
%FC.P

%FC.F
i %FC.THi

%MSG.E 3.2-6
%MSG %MSG.D

R =0~15  %SBRi] 3.2-7

(=0 7) j=0~255 %SCi. 3.2-8

3.2-2

2.2-2
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3.2-3 % PWM

[0) 0,
%PWM %oPWM PLC Q0.0
— IN
BT -
%PWM.P Tp
%PWM T
B 0.1 (1), 10 1
%PWM.P 0<%PWM.P-32767 10 1
0<%PWM.P-255 0.1
0=
T=%PWM.P XxTB
%PWM.P
0.1 0.2 26
10 20 5.45
. 1 2 9.1
%PWM.R 0-%PWM.R-100 (2) 1
0=
Tp Tp = Tx (%PWM.R/100)
%PWM.R
IN 1 %Q0.0
0 %0Q0.0 0
) TSX Neza PLC
2 100 100
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%Q0.0 B %PWM.P
%PWM.R
IN |
80% |
50%
%PWM.R  20% |
%Q0.0 LN L FL LA
PLC %10.0  %I0.1
500
%I10.0 %I0.1 0 %PWM.R 20% 1 20% x 500
=100
%10.0 0 %I0.1 1 %PWM.R 50% 250
%I10.0 %I0.1 1 %PWM.R 80% 400
LD %10.0
%10.0 %10.1
— ANDN  %I0.1
{/}—M—q %PWM.R:=20 | oPWMR=20]
%10.0 %I0.1
LD %10.0
’—M—{ %PWM.R:=50 |
ANDN  %I0.1
%10.0 %I0.1 [%PWM.R:=50]
0610.2 %PMW AND  %l0.1
IN [%PWM.R:=80]
BLK  %PWM
LD %10.2
IN
END_BLK
%Q0.0 = %PWM TB =10 %PWM.P=50
(%S0=1) %PWM.R 0
(%S1=1)
- PLC
%S8 %0Q0.0 0
0.1 %Q0.0
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3.2-4 % PLS
96PLS %PLS PLC %Q0.0
: (50% )
—IN Fi—
BT
%PLS.P
Adjust
%PLS
-
T
TB 0.1 (1), 10 , 1
%PLS.P 0<%PLS.P<32767 10 1
0<%PLS.P<255 0.1 D)(2)
T = %PWM.PXTB
0.1 0.2 26
10 20 5.45
1 2 9.1
%PLS.P
%PLS.N 0<%PLS.N<32767
0=
%PLS.N
Y/N Y %PLS.P.N
N
IN 1 %Q0.0
0 %0Q0.0 0
R 1 %PLS.Q %PLS.D 0
%PLS.Q 1 %0Q0.0
%PLS.D 1
PLS 2) N= ,Y= %I0.0
Q) TSX Neza PLC
2) 0.1 PLS PLS
%Q0.0 %I10.0 %PLS.P 6 1.6
KHz
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0.1

%QI0.0

IN
%Q0.0 _ FLFLFLM LI 1
%PLS.Q S I I I
%PLS.D [
(%S0=1) %PLS.P
(%S1=1)
. PLC 3.2-3 PLC
%PLS.P %PLS.P

56




3.2-5 %EC
%EC %FC
0
INorcp F[
%FEC.SO
%FC.S1 A 4.4
TH1
%FEC
%FC
%FC.V
%FEC.P 0-%FC.P-65535
SO (1)  %FC.SO 0-0FC.S0-65535 0
S1 (1) %FC.S1 0-%FC.S1-65535 1
IN 1
0
S 1
0
(HSC_out)
%FC.S0 %FC.S1
%FC.F %FC.V 65535 1
%01 S
0(2) %FC.THO %FC.S0, 1
1(2) %FC.TH1 1(2) %FC.S1 1
1) %FC.S0 %FC.S1
@) 9%FC.THx
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10 kHz 5 kHz
1- 65535
PLC %I10.0 %FC.V
%FC.S0  %FC.S1

%10.0—> E
%10.2 —>
>
IN %FC —
0 %I0.1 —» ] [ T %FCF
>
[READ %FC.V] > |
>— %FC.THO 0
0 %FC.S0—» ol oorC.THL
4 (0] .
1 %FC.S1—» ]
&P — %Q0.1 0
&i»1— %Q0.2 1
%SW111:X1 —> L
%10.0 110
FC.V<FC.S0<FC.S1 FC.SO-FC.V-FC.S1 FC.SO<FC.S1<FC.V
%Q0.1 |0 1 0 1 0 1
%Q0.2 |0 1 0 1 0 1
BLK %FC %FC
LD %S0 IN
%S0
S S
END_BLK %S0 %SW111:X1
LD %S0 _| i (S)_
S %SWI111:X1 ( %SW111:X1 1)
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%FC.V PLC %FC.V READ
[READ %FC.V]

o0y AL LI ILFL LR LA R RLALRL

1 %FC.S1

0 %FC.S0 / //

%FC.V / / /

IN  %I0.2 (1)

65535

S %I0.1 (1) 1

%FC.F

: .

%FC.THO

1
%FC.TH1

o [ ]

%Q0.1 (2)
1 li
%Q0.2 (2)

(1) s %10.1
(2)

FC.V<FC.SO<FC.S1 FC.SO-FC.V-FC.S1  |FC.SO<FC.S1<FC.V
%Q0.1 |0 1 0
%Q0.2 |1 0 0

59



%I10.0 Hz (10kHz

) (5kHz )
1Hz  10kHz %SW111:X2
1 100 0 1 )
100 100Hz-10kHz 10kHz 0.1% 10
100Hz  10%
1 10Hz-10kHz 10kHz 0.01% 1
10Hz  10%
%SW111:X3 1 0
%10.0—> E
%10.2 .
(1) IN %FC _
> %FCF
»- 0
E— > Y%oFC.V )
> 0, .
0 | Y%6SW111:X3
%SW111:X2 /
| |
1 1
1 | [12
) %I0.2
() FC.V Hz
(%10.0) PP L L P L L L
(IN  %I0.2) | |
(S) [
B 1 ] ] | [
%FC.V F1 F2 F3 |
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%I10.0 Hz (10kHz

) (5kHz )
1Hz 10kHz %SW111:X2
¢! 100 0 1 )
100 100Hz-10kHz 10kHz  0.1% 10
100Hz 10%
1 10Hz-10kHz 10kHz  0.01% 1
10Hz  10%
%SW111:X3 1 0
%10.0—> E
%10.2 1 |
(1) IN %FC '
,—»— %FC.F
» 0,
N > %6FC.V ()
> 0, 5
0) | 0ASW111: X3
%SW111:X2 /
| |
| |
(1) %10.2
) FC.V Hz
(%10.0) RN DR
(IN  %I0.2) |
(S) [
B e o 1 [
%FC.V ST F3 |
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%I10.0

%I10.3
65535

1 %FC.S1
0 %FC.S0

%FC.P
%FC.V

IN  %I0.2

S %I0.1(1)

%SW111:X0

%FC.F (2)

0
%FC.THO

1
%FC.TH1

%Q0.1 (3)
%Q0.2 (3)
(1) %I0.1

)
®)

%FC.F
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(%S0=1) %FC.F %FC.THO %FC.TH1
(%SW111:X1) 0 %FC.P  %FC.S0/S1
(%S1=1) PLC
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O
| T1
1 1 —a
O
| 0 | —
A+ _
D
Vv T
T T1 T2
7F T1 vV A+
T2 A-
LR
10000

I/O

* %I10.0
* %I10.1
* %I10.2

- %Q0.1 A+
- %Q0.2 A-
- %Q0.0
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PLC %FC

%FC
1 9%I10.0
1 9010.1
- 9510.2
%FC.S0 © 9950 0
%FC.S1 - 10000 1
FC.V<FC.SO<FC.S1 FC.SO<FC.V<FC.S1 | FC.SO<FC.S1<FC.V
%Q0.1 0 1 0
%Q0.2 1 0 1
LD %10.2
%10.2 %Q0.0 o7 %6000
| ) LDF  %I0.1
0] .
A)IO‘.l %SW111:X1 S YSWIILX1
N ()
LDR  %I0.1
9%10.1 %SW111:X1 ORN  %I0.2
P} (R— R %SW111:X1
%10.2
/
%I10.2 %10.0 %I0.
1 0 %10.1)
%Q0.1  %Q0.2 %SW111:X1 %WFC.V
0 1
%Q0.1 1 T1 A
A T2 %Q0.2 1
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3.2-6
TSX Neza
UNI-TELWAY

PL707WIN

+ EXCH

* %MSG
TSX Neza

UNI-TELWAY

EXCH
SEND TSX Neza
%MWi:L  %KWi.L
ASCII  UNITELWAY
EXCH

[EXCH %MWi:L] (1) [EXCH %KWi:L]

UNI-TELWAY
TSX Neza

(1) L:

%MWi:L i+L<=512

TSX Neza

PL707 WIN
TSX Neza

UNI-TELWAY  ASCII

CCX
TSX Neza
%MSG

TER

ASCII

%S100 /DPT

64

EXCH
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%MSG

%MSG %MSG
EXCH
1 UNI-TELWAY UNI-TELWAY
%MSG
%MSG
%MSG
%MSG
E —
%MSG
WMSG
R 1
%MSG.E=0 %MSG.D=1
%MSG.D 1
0
%MSG.E 1
0
EXCH %MSG.D  %MSG.E %SW69
5.2-2
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(R)

(Error)

0 1
(Error) (%MSG.E) 1
EXCH 128
80 1
UNI-TELWAY UNI-TELWAY 1
UNI-TELWAY
(%MSG.D) 1 TSX Neza
%MSG.D
EXCH (%MSG.D=1),
%10.0 %MSG.D LDR %10.0
—P— | EXCH%MW2:4 | AND  %MSG.D
M0 [EXCH %MW2:4]
%M
” (S)— S oMO
4MSG.D %MO LD %MSG.D
Ai I I I EXCH%MWS8:3 [ AND %MO
%MO [EXCH %MW8:3]
/R)_ o
\ R Y%oMO
R %MSG.E
0 %MSG.D 1
0,
BLK %MSG ] VS
LD %MO MO
R R D
END_BLK E
(%S0=1)
(%S1=1)
. PLC PLC
%MSG.D  %MSG.E
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ASCII

ASCII TSX Neza ASCII %S100
1
128
EXCH
LgT/LgR
1 2
n
n+1
1 2
p
p+1
(LgT) (LgR)
< 0:
- 1
. 2:
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1) %SW68

H'0D'
@
ASCII
SEND ASCII
0
ASCII
128
1 ASCII "FAULT 10"
%I10.0 %MSG.D LDR %I0.0
P| N EXCH %KW10:7 AND %MSG.D
[EXCH %KW10:7]
%KW10 12 0 LgT
%KW11 'DE’
%KW12 A’ ASCII
%KW13 uT
%KW14 1
%KW15 0"
%KW16 16#0A0D




ASCII

TSX Neza (LgT)
(LgR) %MWi L
%MWi %MSG.E 1
H'OD' %SW68
ASCII EXCH
1 LgT LgR
1 2
n
n+1
1 2
p
p+1 (H'0D"
%KWi
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%MWI10 | 16#0001 16#0007
%MWIL | V' A
%MW12 | L '
%MWI13 | E' s
%MW14 |
%10.0 %MSG.D

LDR %I0.0 Pl— | | EXCH %MW10:5
AND %MSG.D
[EXCH %MW10:5]

VALUE 7 8

%MW15 %MW18

LgT =7

LgR =8

L =1+LgT+LgT%2 +LgR +LgR%2 = 9
2 2
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ASCII

EXCH TSX Neza
(LgR) %MWi L
%MWi %MSG.E 1
16#0D %SW68
ASCII EXCH
2 0(1)
1 2
P
p+1 (H'O'D)

1)
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%MSG %SW69

%SW69 EXCH
- O
- 1 (LgT>128)
- 2 (LgT=0)
+ 3 (1)
- T ASCII <0 1 2
- 8
+ 9
+ 10: %KWi

L <1+LgT+LgT%2 + LgR + LgR%2
2 2

L LgT LgR
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UNI-TELWAY

UNI-TELWAY ATV CCX 17 XBT
EXCH
LgT /LgR
(MSB) (LSB)
n-1 (MSB) n-1 (LSB)
n (MSB) n (LSB)
00
2 1
p-1
p
128
EXCH (LgT)
(LgR)
0
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Uni-Telway

TSX Neza 5
TSX Neza PL707WIN
TSX Neza
TSX Neza Master EXCH 1 5
0.254.16

EXCH
- 0: 4

1 5 1 5

0 EXCH
%KWi
%MSG.D 1
1 5
1
%MWi
%MSG.D 1
“ Read word” %MW510 (16#01FE) 2

%MW10 02 04

%MW11 07 04

%MW12 01 FE

LDR %I0.0

AND %MSG.D
[EXCH %MW10:5]

EXCH %MWi:L
<
- L

%I0.0 %MSG.D

I EXCH %MW10:5

I ||
P ||

76




%MSG.D =1 %MSG.E=0
%MW10 02 04
%MW11 07 04
%MW12 01 FE
%MW13 00 34
%MW14 ‘AB’ ‘CD’

4
=16#0034,
%MW510 =16#ABCD
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Unitelway

TSX Neza
TSX Neza EXCH
EXCH 100 198
EXCH
%MWi
%MSG.D 1
“Read word” %MW510
%MW10 00 04
%MW11 07 04
%MW12 01 FE
LDR %I10.0

AND  %MSG.D
[EXCH 9%MW10:5]

EXCH %MWi:L
s

- L

%MSG.D =1 %MSG.E=0

%MW10 00 04
%MW11 07 04
%MW12 01 FE
%MW13 00 34
%MW14 '‘AB' 'CD’

AdO

98
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= 16#0034
%MW510 = 16#ABCD
“ Read word” %MW510 32
%MW10 20 04
%MW11 07 04
%MW12 01 FE
LDR%I0.0
AND%MSG.D
[EXCH%MW10:5]
EXCH %MW:L
O
L
%MSG.D =1 %MSG.E=0
%MW10 20 04
%MW11 07 04
%MW12 01 FE
%MW13 00 34
%MW14 'AB' 'CD'
4
= 16#0034
%MW510 = 16#ABCD
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%MSG %SW69
%MSG.D 1

NAK
-7
%SW69 %MSG.D
%SW69 EXCH
0
1 (LgT>128)
- 2: (LgT=0)
3 Q)
4: Unitelway
UNI-TELWAY [0...98]
UNI-TELWAY [1...5]
+ b
+ 6: NAK
- T ASCII <>0 1 2
- 8
- O
10: %KWi

()L <1+LgT+LgT%2 + LgR + LgR%2

2 2

L LgT LgR
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3.2-7 %SBRi

%SBRi 0o 1
— R
—cu
—cD
%SBRi 0o 7
%SBRi.j 0 15 j=0 5
R %SBRi.j
0 15 0
cu
CD

[2[1]ofofojofofof1]1]of1]1][1]0]0
T 7

—- T

15 [1[ofofofofofof1][1]0[1][1][1]0]0]0]
15 0

CD 1 0

16
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0 15

%SBlR(|).15 %SBRO0.0 LDN %SBRO0.15
( 0 '
%SBRO BLK %SBRO
Iq LD %S6
Cu
%56 END_BLK
|| CcuU
LDN %SBRO0.15
ep ST %SBRO0.0
LD %S6
CuU %SBRO
. (%S0=1)
_ 0
. (%S1=1)
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3.2-8 %SCi

%SCi
—R
1
—cu
—{cp
%SCi 0o 7
%SCij 0 225 (j=0 225)
LD
R
Cu
CD
cu | T N
cD Y T Y
o] 1 2 [ 3 | 2 | 1 [ o ]
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%10.2 0 %10.3
0 %Q0.1 1 %Q0.2 2 %Q0.3
%SCO.3 BLK  %SCO
LD %SC0.3
o OR %10.3
%10.3 R
} ' R LD %I0.2
%10.2 cu
U END_BLK
LD %SC0.0
ST %Q0.1
lep LD %SC0.1
ST %Q0.2
LD %SC0.2
%SC0.0 %Q0.1 ST %Q0.3
i 0
%SC0.1 9%Q0.2
| 0) LD %SC0.3
OR %10.3
%SCO0.2 %0Q0.3 R %SCO
| A LD %10.2
" N cu %SCO
LD %SC0.0
ST %Q0.1
LD %SCO0.1
ST %Q0.2
LD %SC0.2
ST %Q0.3
(%S0=1)
(%S1=1)
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3.3 PLC

PLC
%IW
RUN

%QW PLC

TSX08RCOM
110

\/ / < T

Neza

PLC2 |

PLC3

PLC PLC

PLC4

%IW2.0
%IW2.1

%QWS5.0
%QWS5.1

%IWS5.0
%IW5.1

%QW2.0
%QW2.1

%IW3.0

%IW3.1
%QWS3.0

%QW5.0
%QWS5.1

%QW3.1
%IW4.0

%IW5.0
%IW5.1

%QWS5.0

%IW4.1
%QW4.0

%QW5.1
%IW5.0

%QW4.1

PLC
%QWij
%IWi.j
%IW/%QW PLC
1 0

PLC

%S71 [ %S72

I/O

%IW5.1

%S70
%SW71

TSX08RCOM
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1: PLC PLC #2 %MO0=1 PLC

%Q0.0
PLC
0,
9%6MO %6QW2.0:X0 LD /MO
] p ST %QW2.0:X0
| | {
PLC
| 96IW5.0:X0 %Q0.0 LD 96IW5.0:X0
| || ( ST %Q0.0
2: PLC PLC #4 0 %MWO
PLC %QO0.1
PLC
LD 1

[%QW4.0:=%C0.V]

i I%QW4.0:=%CO.V

PLC

%0Q0.1

() |

LD [%IW5.0 >%MWO]
| STN  %Q0.1

%IW5.0>%MWO }

Block 1/0 PLC PLC
Block 1/0 PLC /0
1~4 PLC %li.j(i=1-4, j=0-11), %Qi.j(i=1-4,j=0-7)
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4.1
Neza
TSX Neza TSX PLC
PLC 6 PLC
20
24
4.2
16
4.2-1
RTC :n n=0 15
Q: %Mi  %Qj.k
1
DD:MMM 1 31 1
12
DD:MMM 1 31 1
12
MTWTESS
M: S:
hh:mm 0 23 0O 59
hh:mm 0 23 0O 59
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%SW114 1 0

%SW114|||||||||||||||||||
#15 #0
1
%Mi  %Qj.k
" OR”( 13 !l)
RTC:6  Q:%Q0.2
. RTC6: 46 21-Jun -> 21 -Sep
© Q:%Q0.2: 21:00-22:00
+ 21 -Jun -> 21-Sep : 6 21 ->9 21
+ 21:00-22:00 :
0,
%I0.1 %SW114 : X6 LD #10.1
| ; ST %SW114:X6
[ \
%I10.1
21 June 21 Sep
%Q0.2 I TN [T
%I0.1
%S51
4.2-2
%SW50  %SW53 5.2 PLC

%MWi %KWi
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4.3

%SW50  %SW53 5.2
EXCH
%10.
P}—{%Mw12:4::%swso: LD
7 [%6MW12:4:=06SW50:4]
1994 4 19
13 40 30
%MW12 1) 3000 30 =
%MW13 1340 13 40
%MW14 0419 = 19
%MW15 1994 1994
1) 0= 1= 2= 3= 5= 6=
PLC
%SW54  %SW57 5.2 PLC %SW58
BCD
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4.4

4.4-1
TSX Neza C
5.18
4.4-2
%SW50  %SW53 5.2
%S50 1
%SW50  %SW53
%SW50  %SW53
%S50 %S50 LD %S50
|| ®R) R %S50
%(0.1 LDR  %I0.1
I3 [ [%SW50:=06MwW10] [ | | [SWS0:=%MW10]
[%6SW51: = %MW11]
—— [%SW51:=%MW11] | %6SW2: = SOMWL2]
| [%SW52:=%6MW12] | — [%SW53: = %MW13]
T eswsai=semwas] | | [ 5 S50
04550 %MW10  %MW13 BCD
©)
2000 4 19
13 40 30
%MW10 3002 30 2=
%MW11 1340 13 40
%MW12 0419 = 19
%MW13 2000 2000
(1) 0= 1= 2 = 3 = 4 = 5 =
6 =
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%SW59

%S59 %SW59 %S59 1
%SW59 %SW59 5.2

O (@)
+ -
MO wsso ||| ess
0
— (
() LD %10.2
%02 %I0.0 e SWE0.X3 ANDR  %10.0
i ° i ST %SW59:X3
| P ()— LD %I10.2
ANDR  %10.1
%10.2 %I0.1 %SW59:X11 ST %SW59:X11
] P (r— LD %10.3
ANDR  %10.0
%10.3  %10.0 %SW59:X2 ST %SW59:X2
- p (— LD %10.3
ANDR  %10.1
%10.3  %I0.1 %SW59:X10 ST %SW59:X10
| P ) LD %10.4
ANDR  %10.0
%I10.4  %I0.0 %SW59:X1 ST Z/oSOW59:x1
LD %6104
0 ANDR  %I10.1
0, .
%10.4  %10.1 %SW59:X9 ST /SW59:X9

%I10.2 %I0.3 %I0.4
%10.0 +
%I0.1 -
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5

5.1

51-1

%S0 1= ) 0 S U->S
%S1 1= 0 S U->S
%S4, %S5 10ms 100ms - S

%S6, %S7 1s 1min - S

%S8 0= PLC 1 U

%S9 1= PLC PLC 0 U

0

%S10 0=1/0 1 S

%S11 1= ; s

%S13 1=PLC RUN 1 S

%S17 1= 0 S->U
%S18 1= 0 S->U
%S19 1= 0 S->U
%S20 1= 0 S->U
%S50 = (RTC) 0 U

%S51 = 0 S

%S59 = 0 U

%S70 = %IW/QW 0 S

Modbus

%S71 = 0 S

%S72 = PLC 0 U

%S100 /IDPT - S

%S101 0 0

%S118 1= PLC 0 S

%S119 1= PLC 0 S
S= U= U->S = 0 S>U= 1
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5.1-2

TSX Neza PLC %Si PLC
%S0 0 1
1 0
A 7.1
%S1 0 1
0
A 7.1
PLC
%S4 10ms
%S5 100ms %S4 W
%S6 1s 5ms 5ms
%S7 Imin
%S8 1 0
1 PLC PLC
0
0 PLC PLC
%S9 0 1
1 PLC RUN PLC
0 PLC
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%S10 /0 1 PLC PLC  1/O
0 %SW118
%SW119 PLC %SW118 9%SW119
( 52 )
%S10 1
%S11 0
PLC
STOP
%S13 0 PLC RUN
1
%S17 0
1
0
%S18 0 16 1
+ 32767 - 32768
- 0
- BTl ITB BCD
0
%S19 0
%SWO
0
%S20 0 0
1
0
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%S50 0 1 0
%SW50 0
53 1
%S51 0
1
1
%S59 0 1 0
%SW59 0
1 %SW59
%S70 PLC %IW/% QW
PLC 1
PLC PLC PLC
1
Modbus 0
Modbus 1
0
%S71 0 1
0 PLC
%SW71
9%S100 /DPT TER INL/DPT
UNI-TELWAY (%S100 =0)
/IDPT ov (%S100 =
1)
2%S101 %S101=0 EXCH TER
/
%S101=1 EXCH /|
2%S118 PLC 0 PLC /10 1
%SW118
2%S118 0
%S119 PLC 0 1/0 I1/0 1
%SW119
2%S119 0
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5.2

5.2-1
%SWO0 PLC U
%SW11 S
%SW14 UNITELWAY S
%SW15 PLC ul S
%SW30 PLC S
%SW31 PLC S
%SW32 PLC S
%SW50 (RTC) BCD
%SW51 %SW50 = S
%SW52 %SW5H1 =
%SW53 %SW52 =

%SW53 =
%SW54 (RTC) PLC
%SW55 BCD S
%SW56 %SW54 =
%SW57 %SW55 =

%SW56 =

%SW57 =
%SW58 S
%SW59 U
%SW67 Modbus ASCII U
%SW68 ASCII TER U
%SW69 EXCH S
%SW70 TSX 08 Neza PLC S
%SW71 S
%SW76 1ms S
%SW77 1ms S
%SW78 1ms S
%SW79 1ms S
%SW100 U
%SW101 S
%SW102 U
%SW103 U
%SW110 S
%SW111 S
%SW114 (RTC) U
%SW116 (EA4A2) U
%SW117 (EAVBA2 | EAPS8) U
%SW118 PLC S
%SW119 PLC S
S= U=
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5.2-2
TSX Neza PLC

%SWO PLC
PLC
%SW11 (150ms)
%SW14 Unitelway UNITELWAY
7.3-3
%SW15 PLC PLC ul
Ul TSX08 Neza

0X1019: PLC 1.0, Ul 27

%SW30 PLC ms
1)
%SW31 PLC ms
%SW32 PLC ms
€Y

%SW50 BCD
%SW51 %SW50 : SSXN N=0 6
%SW52 %SW51 : HHMM
%SW53 %SW52 : MMDD

%SW53 : CCYY

%S50 0 %S50 1

%SW54 PLC BCD
%SW55
%SW56 %SW54 =
%SW57 %SW55 =

%SW56 =

%SW57 =

1)
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%SW58

1= RUN STOP
= PLC
5=
%SW59 8
%S59
0 8
1 9
2 10
3 11
4 12
5 13
6 14
7 15
%SW67 Modbus Modbus ‘* LF  ASCII
16#000A PLC
16#000A
%SW68 ASCII
ASCII 16#000D
%SW69 EXCH EXCH %MSG.D %MSG.E
1
0:
1:
2.
3.
4: Unitelway Unitelway
5: Unitelway Modbus
6: Unitelway
7 ASCII ASCII
8:
9: ASCII
10:%KWi
20:Modbus Modbus Master
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%SW69 21:Neza Modbus Modbus Master
22: 0-3 Modbus Master
23: (Modbus Master
24: ( + ) (  Modbus Master
81l: PLC “ 8
82: PLC “ ”
83: PLC “ 8
84: PLC “ 8
85: PLC “ ”
86: PLC “ ”
87: PLC “ ”
88: PLC “ §
EXCH 0
%SW70 PLC
2 = (RTC)
7 6 5 PLC TSX08RCOM
I/O
13 1= le]
%SW71 PLC
1 Block 1/0
2 PLC #2
3 PLC #3
4 PLC #4
0 PLC
1 PLC
%SW76 4 1ms
1ms 1 4
%SW79 1ms 32767 ms 15 1
%SW100
0:
1
2: ( 125ms)
3 ( 125ms)
4. ( 500ms)
5: ( 500ms)
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%SW101 %SW100
%SW100 =0 %SW101 =0
%SW100 =1 %SW101 0 1000
%SW100 =2 4 %SW101 0 1000
%SW100 =3 5 %SW101 -10000 10000
%SW102
0: %PWM
1:
2: i| %PWM
3:
%SW103
%SW102
%SW102=0 %SW103=0
%SW102=1 %SW103 5 249
%SW102 =2 %SW103 0 10000
%SW102 =3 %SW103 -10000 10000
%SW110 %I10.4
%SW111 1 =
2 1= (1=100ms, 0=1s)
3 1= %FC 0)
%SW114 (RTC)
0 1= #0
15 1= #15
%SW116 %SW116 0 11
EA4A2 15 0
( ) LI TTTITTTITTITITTITITITITI]
| 3 | 2 I 1 1
0 1
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%SW117 %SW116 8
(EAVBA2/ 15
EAPS) !Ill!ll [ [ [ [ T[]
*=000 4mA
*=01 0 2mA 4mA
*=02 0,1 0 2mA
%SW117 8
8 8
0 0 5V
1 PT100
%SW118 PLC PLC
0 =
3 =
8 0 = Neza
9 =
11 0=PLC
13 = le]
1
PLC 1 16#FFFF
%SW119 PLC PLC I/O PLC
I/1O %SW118
13
14 PLC 2)
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PLC

%S0
%S1 %S9

%S51
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LD %I10.0

Bl

%m.\o %‘uo.l %Q0.1 AND  %I0.1
— | ( OR(  %l0.2
%I10.2 %I0.3 ST %Q0.0
0
%Q0.0 )
) ST %Q0.1
LD %10.0
%IO.‘O ‘%‘)IO‘.l %(?0.1 MPS
Tl () AND(  %I0.1
%10.2 %]I0.3 OR( 2%10.2
AND  %I0.3
%I10.2 %Q0.0 )
| () |
ST %Q0.1
MPP
AND  %I0.2
ST %Q0.0
1 2
%10.0 %I0.1 %I10.5 %Q0.1 %10.0 0/7|o[1 %I10.5 %Q0.1
4{ \ || || ( ) } | \ ( Y
%I10.2 9%]I0.3 B)IO.Z %I10.4
%IO‘.G %\)IO\.?
3 4
%IO.‘O ‘%‘)IO‘.l %0Q0.1 %IO.‘O %‘)IO‘.l °/c‘>IO‘.5 %0Q0.1
( (
T | () T | EmmOa
%l0ﬁ go.a %mﬁ ﬁos
%10.4 %10.4
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5 3 6 4
%lO.‘O %‘)lO‘.l %0Q0.1 %lO.‘O %‘)lO‘.l 0A‘)lo‘.5 %0Q0.1
( (
T () T ] B
%10.2 %10.3 %10.2 %10.3
%I10.4 9%I10.3 %10.2 9%I10.4
LD %10.0 LD %10.0
AND(  %I0.1 AND(  %I0.1
OR(  %l0.2 OR(  %l0.2
AND  %I0.3 AND  %I0.3
) )
) AND  %I0.5
OR(  %I0.4 OR(  %l0.2
AND  %l0.3 AND  %I0.4
) )
ST 9%Q0.1 )
ST %Q0.1
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6.2

(1):

. %10.0 %TMO { %TM1 %Q0.1
XOR XORN XORF XORR “%} IN- QI |IN o—( )—
JIMPCN ENDCN N

2.2-2
BLK
OUT_BLK BLK
END_BLK ( %Q0.1
()
OUT_BLK) %10.0 | # %TMO
o

BLK %TMO BLK %TMO
LD %I0.0 LD %Il0.0
ST %Q0.1 IN
IN END_BLK
END_BLK LD %I0.0

ST %Q0.1
(1)
6.3
7 11 (7X11 )
LD

- JMPCN ENDCN NOP N

OR
*RET JMP END

- END_BLK
. AND OR
OR
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* BLK END_BLK

+ OUT_BLK LD END_BLK
MRD  MPP
MPS  MPP OR
MPS MRD MPP OR
JMPC
17 e &
TH 1 i ob
P
| EENaE 1
iR oAl =]
&I;I 1 = i
I¥
OET_HLE
'\:_I.. = |
EFD_oLn
i £
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7.

7.1 TER
7.1-1 TER
TSX NEZA PLC TER
1 RS485
: UNI-TE V2
1 9600/19200 bits/s
1 8
: 8 mini-DIN
TSX08PALM 1 10
UNITELWAY 110
ASCII 110
—— UNI-TELWAY
1 D+
2 D-
3
4 |DE
5 /DPT
6
7 ov
8 5V
/DPT
/IDPT=1 UNI-TELWAY Master
/IDPT =0 UNI-TELWAY Slave /ASCII /Modbus Master/Modbus Slave
5 7 /DPT=0
Modbus,ASCII  UNI-TELWAY
Modbus,ASCII (PPC PO)
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7.1-2 TER

Neza TER
- UNI-TELWAY Master + MODBUS Master
+ UNI-TELWAY Slave - MODBUS Slave
- ASCII
TER Mini DIN /IDPT n°5
/DPT 1 n°5 TER UNI-TELWAY
/IDPT O n°5 n°7=0V TER ASCII UNI-TELWAY
Modbus PC PPC
Modbus Slave
IDPT %S100

s 2R (T

(" KSCIT ¢ UNI-TELWAY Master * UHI-TELWAT Slave
 Madbuz Slave " Madbuz Master

HENFEE (B)

" 1200 " 2400 " 45800 + 9600 " 19200

Modbus/UHI-TELWAY Slawve Z=Hbil: 4

3% (B #4E{ (D)
+ I v 8 {if T i
C iR Bk (5)
3 1 fif 2

UNT-TELWAY #EAT
Master F Slave AT (R a0

R ©
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7.2 TSX Neza ASCI|

ASCII TSX Neza

TER PLC

1200, 2400, 4800, 9600 19200
1 7 8 1 2

ASCII
fvisiER (1)
(& WECTT ¢ UNI-TELWAY Master  UNI-TELWAY Slawe
" Madbuz Slave " Madbuz Master
IR (B)
100 (2400 (4800 ¢ 9800 ¢ 19200
Modbus/UHI-TELWAT Slave ZHbil:
el () EIE{L (D)
e F w8 fi 7
C 1A B 1H 5
A o1y oz fi
UNI-TELNAY FBHT
Master Fl Slawe AE, R
WEQ | BEo |
ASCII EXCH %MSG

109




7.3 TSX Neza  UNI-TELWAY

7.3-1 TSX Neza Master UNI-TELWAY

TSX Neza UNI-TELWAY (MMI)
UNI-TELWAY
TSX Neza TSX Neza UNITELWAY
Neza

A L
[ Tt
[ TTT] [TTT}
P ™
\ / Hepp Rty
TSX Neza  UNI-TE UNI-TE
UNI-TELWAY
1 TSX Neza UNI-TELWAY
0 : TSX08 Neza
1 : (TSXO8PALM PC PL707WIN )
2-3-5
4 :
2-3-45
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1 2,3 45
Yes No No
MMI No Yes Yes
No Yes Yes
No Yes Yes
TER UNI-TELWAY Master
5
9600
1 8 1
+ UNI-TE
TSX Neza TSX Neza
TSX Neza
TSX Neza
\ |
TSX Neza 0
+ TSX Neza 1 5
PPC PL707WIN ) 1
UNI-TELWAY
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TSX Neza

0.254.0 TSX Neza TSX Neza UNITE
+ TSX Neza
TSX Neza TSX Neza
TSX Neza
TSX Neza EXCH 1 5
0.254.16
EXCH

%MSG UNI-TELWAY
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7.3-2 TSX Neza Slave UNI-TELWAY
PLC
TSX 37
'_;..| |" .'.| ]
T R
1 r?f I 1)
| |
| rd s |
— 100
namE (LT 1 L L L LELR ] T
TSX Neza ATV /IATS TSX Neza TSX 37
UNI-TELWAY PLC
PL7 07 WIN TSX08PALM
1200 2400 4800 9600 19200 bds
1 7 8 1 2
30 255 1.6
4 1 97
TSX Neza 2
- ADO :
TSX Neza
- AD1=AD0+1 TSX Neza EXCH
UNI-TELWAY
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2R (1)
(" ASCII (" UNI-TELWAY Master (% UNI-TELWAT Slave!

" Modbus Slawe " Modbus Master

N (B)
(" 1200 (2400 (4800 & 9800 " 19200

Modbus/UHI-TELYAY Slawe FeHiDE: 4

i () SR (D)
v A " & {ir T i
C & {1k 5
I w1 i o2

UNI-TELWAT #2AT
Master H Slawve AT FHF): 20

RO |

Mini DIN /DPT
7.3-3 UNI-TELWAY
UNI-TELWAY
30 TSX Neza 125
30 8000
30 250 251 255
+ 251 =500 * 252 =1000 * 253 =2000
« 254 = 4000 * 255 =8000
/DPT %SW14
%SW14 PLC
TSX Neza
%SW14 10
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UNI-TELWAY TSX Neza

255 9600 bd/s 8
TSX Neza UNI-TELWAY
- Windows/95/98/2000 DUNTLW.001 Windows NT XWAY
AUTOSPEED 0 1 UNI-TELWAY 5 3

PLC UNI-TELWAY
Windows /95/98/2000 DUNTLW.001 Windows NT XWAY
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7.3-5 TSX Neza UNI-TE

Hex.(1) |Dec.(2) Hex. |Dec.

1 00 00 | 30 | 48 1 %Mi
1 04 04 |34 | 52 1 %MWi
36 54 | 66 | 102 (%Mi, %Mi:L,

%Mwi, %Mwi:L)

1 10 16 | FE | 254 1 %Mi
1 14 20 | FE | 254 1 %MWi
37 55 | FE | 254 (%Mi, %Mi:L,

%Mwi, %Mwi:L)

24 36 |FE | 254

25 37 | FE | 254

Hex. |Dec. |Hex. |Dec.
1 01 01 31 49 1 %Si
1 05 05 35 53 1 %KWi
1 06 06 36 54 1 %SWi
1 11 17 | FE 254 1 %Si
1 15 21 | FE 254 1 %SWi
(1)Hex. (2)Dec.
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7.4 TSX Neza MODBUS

7.4-1 MODBUS/JBUS

MODBUS
RS485 200

ASCII 7 RTU 8
1200 2400 4800 9600

1 2
3 1 127
32
247 1 247
128
: 120 16

CRC16

19200 bds

RTU
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MODBUS JBUS MODBUS  JBUS (Mi  %MWi)
MODBUS / JBUS
ASC I
« ASC Il RTU 2
ASC I
(3A) LRC |[CR |IF*
1 2 2n 2 1 1
* %SW67 (LF) 16#000A
Modbus Master 16#000A
RTU MODBUS
RTU
CRC16
1 1 2
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7.4-2 TSX Neza Slave MODBUS

7.4.2-1 MODBUS Slave
PL7 07 WIN ¢ " “

MODBUS / JBUS

A SR (1)
™ ASCIT

" UNI-TELAY Master ( UHI-TELWAY Slawve

flodbus Slave (7 Modbus Master
EHREE ()

" 1200 " 2400 " 4800 {+ 9600 " 19200

Modbus,UHT-TELKAY 31awe HEHHAE: 1

ik (F) SB{iT (1)
i " 8 {if T i
« 1% &1k )
Cx

w1 fic 2
URI-TELHAY #BRT

Master F Slave AT ) 30

it 0

“ Modbus Slave”
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7.4.2-2 MODBUS Slave

TSX Micro

aalalgl
. =

TSX SCP 114

TSX SCP CU 4030

TSX Neza TSX Neza TSX Neza TSX Neza
TSX SCASO Nf EEEE Ni EEEE N# LT R ] 'l-:ﬁl )
0 ;
!/ /
| 200 M 32
e
........... | e ee,
I ¥ ? I|
i W |
rom| 5 E '.3 /
i i #
! L]
) I o O
I B R
I ]
| bl 4
| owL :
! i
I ]
I B
| oov 2 i
| : \
- 4
I L]
) ]
I
TSX SCA50
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7.4.2-3 MODBUS Slave TSX Neza
TSX Neza 01:

MODBUS MODBUS

MODBUS
- 01/02 : %MO0  %M127
- 05: 1 %MO  %M127
- 15: n %MO  %M127
- 03/04 : n %MWO  %MW255
+ 06: %MWO  %MW255
- 16: %MWO  %MW255

=]

S5

2.3
TSX Neza UNITE
+ OF:
« 4F: CPU
. 24
+ 25:
+ 33:

16#0080

TSX Neza
« 01 (TSX Neza
- 03: 16#FF00 16#0000
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7.4.2-4 COM LED

TSX Neza COM LED 50
7.4.2-5
MODBUS TSX Neza %S70 1
0
%SW67 ASCII (LF)
16#000A
16#000A

7.4-3 TSX Neza Slave UNI-TE

MODBUS UNITE
TER

65

MODBUS

UNITE

65

MODBUS

65

UNITE

= +30H:
=16#00FE :
=16#00FD :
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7.4.3-1
UNITE

OF
3F

27
H'FF

BCD 4-bit
« ASCII
TSXNeza (H'10"
‘TSX 081
. ‘0
‘20" 201/0
H20’
H20’
( TSX Neza,
- LED TSX Neza 4
RUN 0 1 ERR 2 3 le]
LED
00:
01:
10:
11:
H30’ =CPU
H'OA'

H'50" 20 1/0
H'51" 201/0

(8

H'OB’=TSX Neza

ASCII 16

LED

5 COM 6

LED
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0 ERR-INT 1. TSX Neza
1 ERR-EXT 1
2
3 MOD-At 1
4
5 ERR-CNF 1
6
7
C ) 0
7.4.3-2 CPU
TSX Neza PLC
4F
7F
14
« LED 8 LED
+ PLC 8 PLC
0: (1), (0)
1: (1)
2. 1
3: (1)
4 . ;0
5: (1)
6 : ;0
7 ;0
6 TSX Neza,
16#00FF,
0
8
1 0: )
1 7 0
H'OB’=TSX Neza
/ PLC (8 )
0: RAM (1)
1: RAM |, OK(21)
2: RAM D
3: RAM D
4. RAM , FLASH ()
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5 oS (1)
(1)

~N o
o..

(8 )
(1)
OK (1)

- FLASH (1)
: FLASH (1)
(1)

os (1)

N o ok N B O
o

o

7.4.3-3 RUN
1 24
: FE

* RUN/STOP STOP

G7
TSX Neza

7.4.3-4 STOP
. 25
. FE
RAM
TSX Neza STOP

7.4.3-5 INIT
1 33
1 63

00: OK
01: 1
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7.4-4 TSX Neza Master MODBUS
7.4.4-1 MODBUS Master
PL707WIN * " “ " MODBUS/JBUS

iRy (T

(" ASCIT " UNI-TELWAY Master  UNI-TELHAY Slawe
" Modbus Slave & Modbuz Master

{EYFEE (B)

" 1200 2400 {4800 + 9R00 19200

ModbusUNT-TELRAY Slawe HERfIE:

1% (£) ST @)
i A " g {if 7 i
~ & {1k ©)

I " 1 {if A (7

UNI-TEL¥AT #BAT
Master 3 Slawe HTh [FHF): 30

WEQ | it o |

* Modbus Master”
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7.4.4-2 MODBUS Master

ATV ATV ATS Neza

TSX SCA50 | l\(,

[ Gl

| 200 M 32 |

P p— 1

i ]

L om| 5 ,

:

com| 4

I ]

i ¥

| i 4

| OvL :

i i

I ]

[} B

' oL 2 )

| : K
4

I ]

I 1]

| Y

TSX SCA50
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7.4.4-3 MODBUS Master TSX Neza

TSXNeza %MSG  %EXCH Modbus Master

%MSG ASCIl  UNI-TELWAT

%EXCH Modbus %MW Modbus Master (Modbus
Master DTP=0)

[EXCH%MWn:L]

%MWn | Modbus
%MWn+1 PLC 0O 65535 0 Modicon 1
TE 0
%MWn+2 1~125 1-2000)
%MWn+3 (0~3)
0 0~15
%MWn+4 1 16-31
%MWn+5 2 32-47
%MWn+6

Modbus Master

- 01

+ 02

- 03

- 04

+ 05 1
+ 06 1
+ 15

- 16

L 4+

Modbus =0 MSG.D 1

1~255 10ms-2.55s 0, 10s %MWn+3
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7.4.4-4 COM LED

TSX Neza  COM LED 50

7.4.4-5
%SW67 ASCII (LF)
16#000A
16#000A
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7.4-5 MODBUS

TSX Neza %Mi %MW MODBUS
RTU ASCII CRC16 LRC
7.451 n %Mi
01 02
1
1 2 CRC 16
PF | Pf | PF | Pf
1 1 2 2 2
1 2 oooooooooooo CRC 16
1 1 2 2
2 %M3
02 01 0003 0001 | CRC 16
02 01 01 XX CRC 16

— 00 %M3 =0
L 01 %M3 =1
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7452 n %MWi

03 04
3 4 CRC 16
PF Pf PF Pf
1 1 2 2 2
3 4 ------------ CRC 16
PF Pf PF Pf
1 1 1 2 2 2
6 %MW20 %MW24
06 04 14 05 CRC 16
06 04 O0A XXXX  [rrececeece XXXX CRC 16
%MW20 % MW24
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7.4.5-3 1 %Mi

05
5 CRC 16
PF | Pf
1 1 2 2 2
0 = 0000,
1=FF00.
5 CRC 16
PF | Pf
1 1 2 2 2
2 %M3 1
02 05 03 FFOO | CRC 16
02 05 03 FFOO | CRC 16
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7.4.5-4 1 %MWi

06
6 CRC 16
PF | Pf | PF | Pf
1 1 2 2 2
6 CRC 16
PF | Pf | PF | Pf
1 1 2 2 2
5 %MW12 16#3A15
05 06 0C 3A15 | CRC 16
05 06 0C 3A15 | CRC 16
7455 n %Mi
15
OF CRC 16
1 1 2 2 1 n 2
OF CRC 16
1 1 2 2 2
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7.4.5-6 n %MWi
16 (H'10)
10 1 L CRC 16
1 1 2 2 1 2 2
1
10 CRC 16
1 1 2 2 2
1 2 11 %MW16 %MW17
0B 10 0010 0002 04 0001 0002 CRC16
oB 10 0010 0002 CRC 16
7.45-7 LRC
LRC: FF ASCII
ASCI|
3A |30 31| 30 38|30 30 30 30 36 31 36 32|33 34 |0D O0OA
01|08| 00 00 61 62 4872
LRC
FF
01+08+00+00+61+62=CC, = 1100 1100
0011 0011
1: +1
0011 0100
3 4
ASCI| 33 34 LRC = 3334
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7.4.5-8 CRC 16

16

Hex FFFF -> CRC 16

l

CRC 16 - CRC16

Carry 16 PO

LY -> CRC 16

CRC 16

'
%,

= 1010 0000 0000 0001

=2 = X2= XI5 = X16)
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7.4-6
TSX Neza Slave  MODBUS
RS485, Master

+ Slave
ASCII RTU
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7.5 TSX08PRGCAB

TSX08PRGCAB RS485 RS232C
TSX08PRGCAB Modicon TSX Neza RS232C
TSX Neza RS-485 TER
TSX Neza TSX08PRGCAB RS-485
RS-232C
TSX08PRGCAB TSX Premium TSX Micro TSX Neza TER
TSX08PRGCAB(3m)
TSX Neza TER
TSX Premium TER
TSX Micro TER
TSX Nano TER
ACCO1
8 pin mini DIN
9pinD
4
0-60°C
TSX08PRGCAB “ 03 4
TSX08PRGCAB RS-485
PLC RS-232C RTS
PLC PLC TSXO08PRGCAB
RS232C RTS PLC TSX08PRGCAB ACCO1
TSX08 Neza TER DTP DTP
TER Uni-Telway master PLC DTP
TER PLC
0-~3
DTP RS-485
0 Uni-Telway master TSXPCU 1 RTS
1 Uni-Telway master 0 RTS
Uni-Telway master, PLC
2 TSXPCX M On 1 PLC
Uni-Telway master ,PLC
3 TSXPCX M Off 0 PLC

TSX Neza Premium Micro Nano
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LD, LDN, LDR, LDF

bt Bt Ber Bink

ST,STN, R, S

O 4 ® Ay

AND, ANDN, ANDR, ANDF

= = /= ek v

OR, ORN, ORR, ORF

S S S

AND(, OR( (8 )

SR

XOR, XORN, XORR, XORF

—| XOoR |- —{xORN}— —KORR|- —|xORF—

N

END, ENDC,ENDCN
ENDCN

-<eno> H F<eno>

%Li

JMP, IMPC, JMPCN

F=>%i H F>>wl

JMPCN 0< i<16
SRn H > sri
RET ——<rer>

NOP
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8.2 PL707WIN

(%C0-%C15)

%Ci.P

%Ci.V

%Ci.E

%Ci.D

%Ci.F

(%DR0-%DR3)

%DRi.S

%DRIi.F

%FC

%FC.P

%FC.V

%FC.S0 SO

%FC.S1 S1

%FC.THO 0

%FC.TH1 1

%FC.F

(%lij  i=0-3 j=0-15)

(%IW].0-%IW;j.3 j=1,2,3,4,5)
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(%KWO-%KW63) R
LIFO/FIFO (%R0-%R3)
%Ri.0 R
%R.| R,W
%Ri.E R
%Ri.F R
(%MO0-%M127) R,W
(%MWO-%MW512) R,W
(%MSG)
%MSG.E R
%MSG.D R
(%PLS)
%PLS.P R,W (2)
%PLS.N R,W
%PLS.Q R
%PLS.D R
(%PWM)
%PWM.P R,W
%PWM.R R,W
(%Qij.  i=0-3 j=0-11) R,W,F(3)
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%QW;].0-%QW;j.1 i=1,2,3,4,5 R,W
(%S0-%S127) R,W(1)
%SBRi.0-%SBRi.15, i=0-7 R
%SCi.0-%SCi.255, i=0-7 R
(%SW0-%SW127) R,W(1)
(%TMO0-%TM31)
%TMi.V R
%TMi.P R,W(2)
%TMI.Q R
(1)
PLC
(2) ‘ "
“ " "PLC
(3) PLC PLC
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8.3

PL707WIN

8.3-1

A IEOS E): |
A ER S () |
AR OIS (F) |

RO |

8.3-2

ok~ D
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8.3-3

A0S B): [
wno |

8.3-4
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8.4

%I1,%Q %M, %S, 0/1, %MWi:Xi... (1)

LD, LDN 0.2 2 0.4 4
LDR, LDF 0.5 4 - -
AND,ANDN 0.2 2 0.6 4
ANDR,ANDF 0.8 4 - -
AND(,AND(N 6.3 8 7 10
AND(R,AND(F 7 10 - -
OR,ORN 0.4 0.7 4
ORR, ORF 0.8 4 - -
OR(,OR(N 6.3 6.6 10
OR(R, OR(F 6.7 10 - -
XOR,XORN 0.2 2 0.6 4
XORR,XORF 0.8 4 - -
ST,STN 0.2(0.8) 2 0.9(1.5) 4
SR 0.8(1.2) 4 1.5(1.8) 6
N 0.6 4
) 15 8
MPS 0.6 4
MRD 0.2 2
MPP 0.2 2

099
1) %MW16  %MW255 (%KWi:Xj,%SWi:Xj)

15 2
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BLK %TMi 8 4
BLK %Ci 8 4
BLK %Ri 8 4
BLK %SBRi 8 4
BLK %SCi 8 4
BLK %DRi

BLK %FC 8 4
BLK %MSG 8 4
BLK %PMW 8 4
BLK %PLS 8 4
OUT_BLK 200 2
END_BLK 180 2
IN 1.2 4
R 0.6 4
CU 0.7 4
CD 0.7 4
I 1 4
O 1 4
U

S 0.7 4
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IN %TMi 48 4
CD %Ci (CU %Ci) 46 4
S %Ci 49 4
R %Ci 47 4
U %DRi

R %DRi

LD %SCi.j 9 6
CD %SCi (CU %SCi) 38 4
ST %SCi.j 10 6
R %SCi 36 4
BLK %PMW 42 4
BLK %PLS 53 4
CD %SBRi (CU %SBRi) 39 4
R %SBRi 37 4
| %Ri (O %Ri) 49 4
R %Ri 48 4
IN %PWM 36 4
IN %PLS 46 4
S %PLS 42 4
R %PLS 58 4
IN %FC 43 4
S %FC 69 4
READ 0.8 6
EXCH 160-700 8
R %MSG 25 4
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= 29.5 10
+ 34 12
- 38 12
* 49 12
/ 48 12
REM 49 12
INC 28 6
DEC 28 6
AND 37 12
OR 37 12
XOR 37 12
NOT 29 8
SHL 34 10
SHR 34 10
ROL 35 10
ROR 35 10
BTI 40 8
ITB 40 8
SQRT 80 8
LD[wordl comp word?2] 18 8
ANDJ[word1l comp word2] 19 10
AND([wordl comp word?2] 24 14
OR[word1 comp word2] 21 10
OR([word1 comp word?2] 25 14
comp: == <= <> = >=

END 0.4 2
ENDC, ENDCN 0.6 4
SR 14 4
RET 2 6
NOP 0.4 2
JMP 7.8 4
JMPC, JMPCN 8 6
%Ln : 0.6 4
%SRn : 2 4
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8.5 ASCII

PL707WIN ASCII

8.5-1 ASCII
ASCII ASCII PL7-07
ASCII

ASCII
1. “ " “ ASCII ?

s HE
£30: I P1707win -] A ek
IS W [k
TR D) [Text G txt) =] B2
r RENRTR ©)

2. 13 ”

3.« ” (*.tx0) *.%)

4. K

5. 13 ” 13 ”

ASCII

1 “ » “« ASCIl "

2, » (*.txt) *.%) it

3. 13 ”

4. = , WINDOWS
WINDOWS
?” ” 13 ” ”

5,
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8.5-2

1.
I EE
#3 - i F1707win -] A ek
[#] carwash. s3m
A W |||: arwash. =ym
TZERI (1) [Symbol (k. sym) =l Bk
 ELRERFITH R)
2. 13 ”
3. (*.sym) -
4. 3 ”
5. 13 ” 13 ”
6. 5 13 ”
l. 13 ” 13 ”
2. ¢ " (*.sym) .*) .sym
3. 3 ”
4, “ K WINDOWS
WINDOWS “ "
5. 13 ” 13 ”
6 5 13 ”
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8.6

8.6-1 PLC LED
PLC
Neza PLC
4 S
4 RUN ERR o~ T
/IO COM e
L NN ) (LT 1]
LED
RUN
PLC STOP PLC RUN
COM Modbus, Uni-Telway,
ASCII /o
ERR
OK
/O /O
OK Block 1/0 OK
Neza PLC i
 TEET T IR ]
2 2
W FoPRs
POWER ACTIVE o
EFEEEEEFREEEEE
LED
POWER
ACTIVE
110 OK
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8.6-2

PLC
TSX08PALM PL707WIN (%S) (%SW)
8.6.2-1
%S10 /O 1 PLC PLC /O
0 %S119 PLC
%SW118 %SW119
%S10
%S11 0
150 ms 1
PLC
%S19 0
SWO 1
0
%S71 0 1
PLC %SW71
%S118 PLC 0 PLC /0 1 %Sw118
/O %S118 0
%S119 PLC 0 PLC 110 1 %SW119
110 %S119 0
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8.6.2-2

%SW71 PLC PLC 1/O PLC
1 I/10
2 2 PLC
3 3 PLC
4 4 PLC
PLC 1/O
0
PLC PLC 1
%SW118 PLC PLC
1 0
3 0
8 0 TSXO07
9 0
11 0 PLC
13 0
1
PLC 16#FFFF
%SW119 PLC PLC PLC
%SW118
13
14 PLC
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